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SOLVING EQUATIONS Use the quadratic formula to solve the equation.
€2.4x" — 13x+3=0 3307+ 1y +10=0 8.7 +8x+1=0
@. -3 +2y+8=0 36.60°-10n+3=0 37.9°+ 14x+3=0
38.8m° + 6m— 1 =10 39.7x°+2x—1=0 40. —6x° —3x+2=0

4. —%x3+6x+l3=0 42. 1002 +3a+2=0 43 —2d°—5d+19=0

STANDARD FORM Write the quadratic equation in standard form. Solve
using the quadratic formula.

@. 2x° = 4x + 30 45.2 - 3x+x*=0 46. 16 = —x’ + 1lx
47.5x— | = —6x° 48. 24" — 6 = -4g 49.5: -2+ 15=8
50. —1 + 3x% = 2x 51, —=5¢2 +9¢c =4 52. —16b = —8b> — 8§




